The matrix A is given as:

1) Calculate A=|A=

2) Calculate algebraic cofactors:

A=

Ag2 =
Ags =

3) Decompose this determinant in rows and columns:
(row 1) A=|A=ay; Ay +ay, - Ap +833- Az =

(row 2) A=|A =ay;-Ayy+ag, - Agy + 83+ Ay =

(row 3) A=|A=ag, -Ag +ag, - Agy +8g3- Agz =
(column 1) A=|A=ay; Ay +ay - Ay +ag1- Ay =
(column 2) A=|A=ay, -Ajp+ayy - Ay +az - Agy =
(column 3) A=|A=ay3-Aj3+8y3- Apz+833- Pgz =

4) The inverse matrix is

(A A AsY (A A A

A‘1=ﬂ° Py Ay Ao =m' Ap Py Ap|=
Ag A Asg Az Pz Ass



